WATCH THOSE SIGNS!

+/+

v? + 2y + 1
y+1)(y+1)

Signs are the same!
Sign of the middle term.

_/.|.
y? -2y + 1
(y-1)(y-1)

Signs are the same!
Sign of the middle term.

-/ -
n’-n-90
(n-10) (n + 9)

Signs are different!

Biggest factor takes the

sign of the middle term.

+ /-
m?+ 5m - 6
(m+6)(m-1)

Signs are different!

Biggest factor takes the
sign of the middle term.
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Difference of Squares

Directions: Simplify the following polynomials.

Q
WARM-UP o (x+4)(x-4) = Xa—'{-)(-l-WX-tlo: X""'N)
e (5m+1)(5m-1) =QSI]}Q—SIII+M‘L%SW—\
o (2a+3b)(2a-3b) = LHI _3_b—3.

& This resulting product is called g
Ll-m _ lD Qb"' b__q b& [ o DIFFERENCE OF SQUARES.

First, k h tual diff f !
Blepa to dacton @ (btistiboasulshraciion gt caid you sson Sy opt bolh e
DIFFERENCE OF Use the following rule to factor: a2 - b2 =®]_'\:DJ_@:
SQUARES Check your work by distributing! )




irections: Fa h diffe e of squares. Che y w rk by
'rbfgf Iml ’rbffdw’r rime

(m+a)(m a) Fe8)(n- %)

3,81 -x 4. ¢*-100

Q+xX)@-x) | C+HO0)E- 0)

5. K+ 25 6.1- 4972

MRimol a3

7 9h? — 100 25x2 - 49

5x+71)(5x-1)

EXAMPLES

(3b+10)@3b-10) ¢

9. 164’ - 121 10. X’ - 81)?

11, 4i* - 25¢° 12, 64’ -V




Sometimes you have to take out the GCEF first
including variables in order to have a Difference
of Squares.

Example:
48a’-12a GCF =

When you write your final answer the GCF goes
outside your two ()



Directions: Look for a GCF first, then factor the remaining difference o
squares. Check your work by distributing.

EXAMPLES -20" = 22. 18+ - 50
WITHA GCF

AMtu)n-v>5
a(Ll-S T 3 U) 25. 24a2 — 547 26. 1005° — 36b

(4$-30)

27. 80n* — 1252




